BT TRIA O - HEHHEE X T ﬂﬁﬁkifﬁom KIRHE
- I:I - 3 I:I
X 73,237 158,843 75871 82,972 | EHFILETAT 742 1,863 878 985
E 4641 10,010 4631 5,379
BEKET1T 869 1,869 907 962 |EREEFZH2T 1,422 3,282 1,572 1,710
BEKET2T 335 800 382 418 H 1,422 3,282 1,572 1,710
B 1,204 2,669 1,289 1,380 |R=E~EBT1T 69 193 86 107
< FE] BT 8,712 21013 10,016 10,997 |EHE=E+~ER2T 263 533 256 277
Lt RER1T 347 555 277 278 |R=E~ EBT3T 435 992 481 511
Tt RERT2T 239 440 208 232 |R=E~EBT4T 201 390 182 208
Lt RER3T 271 488 264 224 |R=E~EB5T 374 674 352 322
Lt RERT4T 167 306 152 154 5| 1,342 2,782 1,357 1,425
Lt RERST 140 290 144 146 | KZIFAT1T 760 1,676 787 889
Tt ERERGT 94 225 110 115 | KEZFBT2T 894 1,900 913 987
TtERER7T 73 165 76 89 £§t| 1,654 3,576 1,700 1,876
Tt ERERST 129 213 104 109 | RERTT 74 183 80 103
g 1,460 2,682 1,335 1,347 (A RERT2T 152 340 170 170
tfEBET1T 247 508 243 265 (A RER3T 365 801 351 450
tfEBET2T 1,161 2,585 1,207 1,378 |FARERT4T 285 492 193 299
tfEBET3T 949 1,826 916 910 BB RERST 142 316 149 167
tfEBET4T 906 2,048 1,022 1,026 | 1,018 2,132 943 1,189
g 3,263 6,967 3,388 3,579 |F{EAET 2,143 4,893 2,398 2,495
ERATET1T 635 1,580 791 789 | = AHT 243 455 227 228
ERATET2T 356 844 402 442 |BEEERMET1T 248 486 227 259
ERATETST 356 836 395 441 |BEEEFRMET2T 494 985 482 503
g 1,347 3,260 1,588 1,672 (BEEHRMAETST 701 1,537 733 804
==Yl 1,015 2,176 1,040 1,136 (B E B RMET4T 622 1,264 635 629
HEWEET 255 503 229 274 |BEEERMEIST 705 1,663 794 869
HERE2T 397 701 312 389 gt 2,770 5,935 2,871 3,064
HEWREIIT 265 478 248 230 |BEEMBILAT1T 230 394 174 220
HEWE4AT 139 298 132 166 |BEE EHEitAT2T 449 921 447 474
B 1,056 1,980 921 1,059 |BEE BRI T 516 1,080 523 557
HEREET 1,653 3,221 1,450 1,771 |BE S B#EILET4T 596 1,272 600 672
HEREET2T 3,029 6,457 3,088 3,369 |BEEBILATST 755 1,747 857 890
HEFETST 3,014 5,925 2,667 3,258 B 2,546 5,414 2,601 2,813
HEFETAT 2,195 4238 1,886 2,352 |EEBHEET1T 1,012 1,948 945 1,003
HEREEIST 1,258 2,683 1,290 1,393 (B E BiBHT2T 148 311 161 150
5| 11,149 22524 10,381 12,143 |BEE#EEI3T 2,147 4475 2,170 2,305
HUEET1T 791 2,182 1,059 1,123 B 3,307 6,734 3,276 3,458
HYERT2T 534 1,329 655 674 | BEETZET1T 632 1,397 653 744
g 1,325 3,511 1,714 1,797 (B BHEZET2T 480 1,023 488 535
MEET 447 995 495 500 |BEETZET3T 314 752 364 388
EET2T 325 800 385 415 B 1,426 3,172 1,505 1,667
g 772 1,795 880 915 |BEEEARET1T 656 1,339 665 674
WHAEET1T 718 1,864 890 974 |BEEEARET2T 242 584 285 299
WHEEET2T 207 469 224 245 |BEEEARETST 1,022 2,695 1,311 1,384
RT3 T 705 1,529 766 763 B 1,920 4618 2,261 2,357
g 1,630 3,862 1,880 1,982 (BEEEREET1T 311 692 343 349
RKEIRAT 5547 12,438 5,982 6,456 |EE BMEmAET2T 223 479 242 237
hRERTT 276 546 251 295 |BE EEmEET3T 604 1,327 658 669
hRER2T 205 369 164 205 g 1,138 2,498 1,243 1,255
hRERST 228 503 249 254 |J\ T4t 101 210 99 111
hRERT4T 275 530 259 271
B 984 1,948 923 1,025
o A BT 594 1,250 611 639
hEEEET1T 587 1,242 582 660
hEEEET2T 788 1,320 627 693
hEEEETST 452 1,124 537 587
hEEEET4T 705 1,407 701 706
hEEEEST 849 1,706 828 878
hEEEET6T 3,297 6,265 2,988 3,277
it| 6,678 13,064 6,263 6,801
P =T 830 1,993 976 1,017
BAFBILETTT 1,057 2,201 1,048 1,153
BXEFILET2T 989 2,266 1,121 1,145
BEAEFILAIST 1,853 3,680 1,584 2,096

IR=



